
O
r
i
g
a
m
i

F
-
1
4

T
o
m
c
a
t

b
y

K
O
M
I
N
A
M
I

H
i
r
o
s
h
i

A
b
o
u
t

m
y

O
r
i
g
a
m
i
→

a:b =

a

b

1:0.994



O
r
i
g
a
m
i

F
-
1
4

T
o
m
c
a
t

b
y

K
O
M
I
N
A
M
I

H
i
r
o
s
h
i

A
b
o
u
t

m
y

O
r
i
g
a
m
i
→

a:b =

a

b

1:0.997



O
r
i
g
a
m
i

F
-
1
4

T
o
m
c
a
t

b
y

K
O
M
I
N
A
M
I

H
i
r
o
s
h
i

A
b
o
u
t

m
y

O
r
i
g
a
m
i
→

a:b = 1:1

a

b



O
r
i
g
a
m
i

F
-
1
4

T
o
m
c
a
t

b
y

K
O
M
I
N
A
M
I

H
i
r
o
s
h
i

A
b
o
u
t

m
y

O
r
i
g
a
m
i
→

a:b =

a

b

1:1.003



O
r
i
g
a
m
i

F
-
1
4

T
o
m
c
a
t

b
y

K
O
M
I
N
A
M
I

H
i
r
o
s
h
i

A
b
o
u
t

m
y

O
r
i
g
a
m
i
→

a:b =

a

b

1:1.006


